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Ex1:

Résoudre les inéquations suivantes sur lintervalle I donné:

I_cos(x)s-ii sur I=[0;2T).
?_cos(x)>-"/-?E sur I=[0;2T) et sur I=]-T;T].

S.m(x)s-g sur I=[0;2T[.

Ex2:
Résoudre les inéquations suivantes sur lintervalle I donné:
Lsin(x)>0 sur I=[0;2T].
2.sin (x)>i’ sur I=]-T; T L.
Ex3:
Résoudre les inéquations suivantes sur lintervalle I donné:

I.sin(x)sil sur I=]-T;T] etsur I=[0;2T).

Zsin(x)<% sur I=]-T;T] etsur I=[0;2T).

Ex 4 :

Résoudre les inéquations suivantes sur lintervalle I donné:

I.sin(x)<% sur I=[0;2T].
Zsin(x)ag sur I=]0;T[.

Ex5:

Résoudre les inéquations suivantes sur lintervalle I donné:

I.sin(x)<-;l- sur I=[-T;T[.
2.sin(x)+1>0 sur I=[0;2T[.

Ex6:

Résoudre linéquation: sin (x) x cos (x)<0sur I=[0;2T].

Ex7:
Résoudre l'inéquation: -2sin (3x)+ /> 0sur I=[-T;T].

Ex 8:

Résoudre linéquation: cos (2x) > ;"_ sur I=]0;2T[.
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